N

(eLHaHoge MDOHH;)}dBEOU ou)
d9HRXHY YiaHgel |

wes T g 1 - l Blahd A or euaiteed 1o axenA en sdalou Xi9HEULEWdO WOoLanA D 0sa0g
i<+, T =8x3 19io8 MOHTOLOX adALedaLWaL HOHKEDBWBHITRAD WoLahA 3 QloL
g00eh (00’0 uuneALMd xiqaHyudese swadg
SSH'R0LL - S6T05EHS 980601 S 001 #1 21 60
0169 - = r9°8051¢ RERCOL0S 00 10 F1 |1 ¢z

D4 | suHeERyOo| | e ') Ly r'gn e 'z0) hrds) wes ' 1O RS swade, u eie)y
XI9HHEY BULEHD LHOWOW PH GOMNhL3h) BHHEEENO[ |
26'vZ1 9b'89- PobbI8Y £66'Shly ' ¥T0OT 9dgexattjes oioiy
wLE 888'6T- 9T1'66€T 822'6/51 (-) NB2awW wiarmodu es exeoduriaddoy|
87'be v8/'02- ST/Z'8€€T T1€6'/TET (+)BNKIOW ehHOY oY looaqdeawdo
11821 00'n 000 00'0 165°¢9- 000'0 SPR'E/BY 000’0 bOT L08R 0'0zs 010 Ly
02" : |5z 90'47 -|56E'791 -|26'6E - -|Eve'001 -|86'99 -loo've aaHtfad)
S18'E - Obt'1- 1647 bOE'ERT 8r'se - §99'1HT - 66" v PIZLRZ
L04'E - 5 £49'T- £]'67 91461 BT 16b'5hT - 2£'E9 = ¥ PIRLTZ
062"y 8194 91'/7 906'#91 96'AE = 682'091 - Z1'49 - bz i ¥1°2T°02
S09'E H8T- 69'57 20b'bb1 £8'af = £56°701 - 75'29 - v L HTZT61
6b'E - EIE"Z- 16’97 9ZR'9HT 94'LE : = £15 kb1 £2'p0 - bz $1°21'81
£92'¢ : = SL1°2- 11'9¢ ZET'6HT [ £56'0b1 £9't9 E v YI'21'T
1eL'e E - - S64°1- LE'9 PRESHT - 9b'/E 065’61 = vR'E - 2 112197
bOR'E - - - 9881- ar'se 922 bb1 19'/E = BEEZHT 94'%9 - [ [4%4%3
18/'¢ - E 6ES'L- 6297 0£T'/¥T 0§'28 - 164561 6259 - v [AN4R2!
0/T'y - E [Ty 90°4¢ S6b'291 76'6E - £62'091 86'09 - 24 P1TTET
e’y 252"¢- 9027 S6b'zal Z6'6E £+2°091 86'99 vz [AR4¥4S
256'% G86'1- Le'9z 698'b51 59°8F - v8a'761 £6'09 - 4 bTZITI
042k 252'¢- o0'se SAb'7aT 26'6E - £FZ'091 £6'99 - bz b121°01
t6T LZ0'E- 95’57 /EB'801 oy - 018991 £6'69 v FTZT'60
bS'p 148- v9's e Pb5'RO1 ab'le £/9'591 0189 24 b1'2T'80
211 £26'1 11'sz bOb'R91 24'6E #5991 £8'p0 - |24 PIZ140
B0T'Y BZ1'Z 09'sz - FRE'S9T L9'5E - = bGZ'E9T : £2'59 b PIZ1'90
000k 12z bo've /85491 LP'BE . 99¢'691 = 119 - v FIZI°60
b50' B91'E- /9'v7 19t'691 69'6E 267491 - 9E"b0 - 4 PLUET b0
979"y S/6'1 ' 956'991 201y £86'p01 9%'69 = +Z PUZLED
698"} S16°1- £0'0¢ = £41'991 9"t 29291 6212 b PUZL'20
058"t 881'2- 08'87 LEE'ELT 66'TH BET1/1 6404 124 PUZT'IO
042"y 252°z- a90'47 S6b'707 26'6F = £52'001 86'99 vz b 11708
£2e's - - §91°2- £9'08 086'b/1 C1ER 91821 [ - bz b1 1162
bh6't : - £08'7- b6 [4ER bETh 07691 607 = vZ PLIT8?
£E6'y = = 160'c- 25’67 2610/ T = 10k 5 . 101°141 ¥S'TL E v PUTTYT
042k 752’ 90'42 S6b7a1 26'6E = - £42'091 86'99 - 24 I I1°97
£19'p £E9'7 00'¢z B/6'9/T €'y - THE'R/T T€'89 4 BITTSE
299't [£9'z- 56'9¢7 S62'641 602k - PEL'0LT +0'69 : +7 b1TIT b2
618y 826'2- [aa 812'781 €Lt HBT'6LT 72 - [24 BT ITED

ey | HHOL HHOL HHOL HHOL 2] ey | HHOL WD {30 3 o ey | HHOL WO o) s
o] W|Op | 28079 | oailn ap 1p [ 0 Zd 7L [43)] 10 19 Id IL ‘194 | moen eseyy
FosoduogAdl wantedgn osoduogAdL weimoeto)
=51l =bl =€l =gl =11 =bd =£d =7d =[d HMHIhEHE BIFHIHELIHOY
LAo/juey | = drda Loty Janfuey | ='rioly 1AL ='dh daug 1AL =) 1on) MMEADIBH BuMDRhULYED
=Woaln =281 ='lou'xalg ="1Hagag =105 'h/L '(3eh-dd) nugAdien amHdonosoly
=doaa4p) =d2 38l %01 ‘hiuen ] '(oendd) uneAdien aldHdogooff
=3a1D) ="Lol'xald ="ILH38]) =100 "hiues | ‘wieAdien sindoaolofy
‘olar (axu-au)*zw-(nxq-m)*m=b IBWME  Wiudolue HigHIBhoed
Mxmutié)u dl
gl ')IQMh'dl
094 'W-di
SO-dLLIL 05 T-Wedu "dL'HLedgo
SO-dLUIN 0S T-WedL  'di kmmdiaeuou
BUHalrgel? *dgoad| ‘dgoaduonda | XL ujwio dawotroxoed |

D 0=8x] OF 19Hadaa0U €| A4 1adogudy | P0S9E 6N TH6-LLID :9UdLULIMhIag
n19dogudu s19HHaLEDHR IO
oo O ¢-NL ‘s uminegiag ‘JdAgdaLa) J-13tHen) *J ::)e‘?dn'v
BRHQAdLXASYT BUHBRhOILNITOL BWaXD 9-Z0S1¢ :dosa.ofy
0//0ST Muced. «EHoved oloxogay 2-O0DK., 000 :LHOHOQY

PT0T 9d9eNal B €144 wedogudu oi WMHIIrGad10LOIISL 6 19hi()

Adigdaiaf [-1smey asoooria L. OVO {00




